
 
 

torresc
Text Box
SOLUTION TO CLASS EXERCISE #3 - NW QUADRANT

torresc
Text Box
Rural Road (Exercise #3)

torresc
Text Box
ABC

torresc
Text Box
00/01/18

torresc
Text Box
346+00

torresc
Text Box
99999

torresc
Text Box
EXAMPLE

torresc
Text Box
XYZ

torresc
Text Box
00/01/18

torresc
Text Box
Class Exercise #3

torresc
Text Box
NW Quad

torresc
Text Box
64.88'

torresc
Text Box
185'

torresc
Text Box
1/12

torresc
Text Box
16'

torresc
Text Box
30'

torresc
Text Box
16'

torresc
Text Box
0

torresc
Text Box
30'

torresc
Text Box
6.34'   (measured from EOP)**

torresc
Text Box
18.34' (measured from CL)**

torresc
Text Box
** Refer to Calculations and Notes

torresc
Text Box
345+48.8

torresc
Text Box
345+76.9

torresc
Text Box
7'

torresc
Text Box
23.125'

torresc
Text Box
1:5

torresc
Text Box
55 mph

torresc
Text Box
5,000 vpd



 
 

torresc
Text Box
*** Calculations and notes shown on the following sheets ***

torresc
Text Box
28.125

torresc
Text Box
MGS-8

torresc
Text Box
1

torresc
Text Box
T-1

torresc
Text Box
1

torresc
Text Box
2M

torresc
Text Box
6



Class Exercise #3 – NW Quadrant 
Calculations and Notes 
 

Length of Need (X) 

X =   

ଷ଴	ା	ቀ భ
భమ
ቁ	ൈ	ሺଶଷ.ଵଶହሻ	ି	ଵ଺

ቀ భ
భమ
ቁ	ା	ቀ యబ

భఴఱ
ቁ

ൌ 64.88′ 

 

Guardrail Length 

Using a Guardrail Approach Terminal, Type 2M with        

Guardrail, Type MGS‐8 in this case 

 

Min. Guardrail Length = 64.88’ – 23.125’ – 34.3’ = 7.46’ 

However, in this case, the minimum length of Type MGS‐8 

between the T‐1 anchorage and Type 2M approach terminal is 

28’‐1.5” due to the required height transition section; see 

MDOT Standard Plan R‐60‐Series. 

 Type MGS‐8 guardrail length = 28.125 feet 

 
 
 
 



Reflectors 

# of reflectors = (
ଶ଼.ଵଶହ	ା	ଶଷ.ଵଶହ

ହ଴
) +1 = 2.02  →  round up to 3 

*** But two‐way roads require reflectors facing both sides *** 

 # of reflectors = 3 x 2 = 6 reflectors 

 

Stations 

Station A = (346+00) ‐ 23.125’ ≈ 345+76.9  

Station B = (346+00) ‐ 23.125 – 28.125’ ≈ 345+48.8 

 

Calculating  Z 

Zformula = (64.88 – 23.125 – 34.3) × (
ଵ

ଵଶ
) + 16 = 16.62’ (measured from CL) 

Zactual   = L2 + (DistanceB‐A) × (
௕

௔
)   

   = 16 + (28.125) × (
ଵ

ଵଶ
) = 18.34’ (measured from CL) 

or 

   =   4 + (28.125) × (
ଵ

ଵଶ
)  = 6.34’ (measured from EOP) 




